o op

=
=

APHE ABCDO A B A D

AABD ACDB 9| 4]

2

ki)

J =S
o

=

14 AABD

9]

)

ACDB (SSS




AFHE ABCD



3.

b 9t o] BAAAG ABCD o U5e] el
tjste] APAD = 15cm?, APBC = 1lcm

APAB 9] §ol 2 Fajoiat.

rek
o)
-

IS4
£ o

2 APCD = 12cm? ¢




71

@ ¥l 7ke] 2717t =F 90° 9 A}

JJ
p .
file)

Hlo



sholat.

27

OABCD 7} AAHEE A o, x <] Ao]

5.

@ 2 ® 3 @ 4 ® 5

D1



Apwigolet.
@olt,

%

R

@ AteEe

o g

1Bo
N

&

® 34



o = =
o B diZle] Aolh A I, AR e A ol 5 RehE
AZtEe nE 12M9



8. th& 2% YA ABCD oA BE = £ABC 9] o]5-&4e] 1,
AB=5cm, BC=9cm ¢ @, DE ¢] Zo|& 5tofz},

E
A 4

5cm
|

\ /e

(]
~

B~~-9ecm--"C



A g

<

t}-S gABCD 7} ©

9.



10. oh& 2™ 22 A ABCD oA PQ & WiZHd AC 9] =2¢]
SEAolth. oAQCP 9 WolE otofeh

A P.6cm.D

\

A}
EIBCIn




11.

T2 192 oABCD & AD // BC Q! SHA ] Eo|tt, AB = 10cm,
AD = 8cm, <A = 120° ¥ W], oABCD 9] 9| 2] Zo]& 35}loiz}.
(&, &9l et




m_f
XS
o|J

Njo

oln

__01_
i
Hlo

m_.a
i
)

o

@ =
SHAT
alﬂ_
&AM



13. oS 1% AABC|A DP : PA = BD :
DC =3:20°|th AABP 2] {ol7} 10em2 ¥
o, AABC 9] Hlo]=?

112 113

@) ?cm2 @) Tcm2
123 133

@ f Cm2 @ 7 cm2

125
® —cm?

Q



14. The %7 @o] nABED o] %314 DS A/ 1h1 AE o Hagt A 4le]
El

BE¢] @%ﬁy}gqgg—g—ca}glﬂi, OABED 9] Yol & Faloigt.
A D
!
]
4
\
B \
\5, _-E~3--



15. o Je] BPAHY ABCD oA A E+ W AB9] SHol1,
DP: PE = 2: 10|t} HPAIRF 9] Ho]= 48cm? € i, ADPQ 9]

Hol=?

A D

@ 4cm? @) gcmz ® 5cm?

11
@ ?ch ® 6cm?



16. o2 23370l AD//BC 2 Aftte]& ABCD 94 OA : OC =1:2
olt}. AAOD = 48cm? ¥ wj, DABCD 2] Ho]=?

A D

@ 432cm? @ 480cm? @ 562cm?

@ 600cm? B 642cm?



17. g 23 2ol /B = 64°¢) BRI
ABCD ] B34 AolH /D9 o524 ¢
of W 5419 e Fet @, /BA
3718 Ffofet.

e
Lo

Qe :
»



18.

cm



19. th2 AFE ABCD 7t B3AMAE O] HER Lx, 2y O & Fotolet.

A D
112° 4 4
]
4‘
B C



20. HYPAWEP ABCD oA EF//BDoltt. AABE = 20cm? & o,
AAFD 9] Yo & Fstoiet.

A D
F
B E C
@ 16 cm? @ 18cm? @ 20cm?

@ 922 cm? B 24 cm?2



